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SUMMATIVE ASSESSMENT - I, 2015-16
SCIENCE

Class - IX
Time Allowed : 3 hours Maximum Marks : 90

General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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SECTION-A

Name the phenomenon that results in the shrinkage of human red blood cells when they are 1
placed in hypertonic salt / sugar solution.

Which force is called centre - seeking force ? 1

What is the difference between the motion of an object moving with uniform speed on a linear 1
path and that on a circular path ?

Define sublimation. Which typé of mixtures are separated by this technique ? 2

How is striated squamous epithelial tissue different from squamous epithelial tissue ? 2

A body of mass 5 kg is moving with a velocity of 10 m/s. A force is applied on it so that in 25 2
s, it attains a velocity of 35 ms™. Calculate the force applied.

Explain the term centrifugation? Give its two applications. 3

With the help of an activity show that gases are more easily compressible than liquids and 3
solids. ;

Give reasons for the following : 3
(a) Our body feels cool when we apply perfume on it.
(b) We get the smell of pizza easily as compared to that of ice cream.

11 0of5

/ gm“""“"“‘"'%,(
3 X7
TN



10 Do all cells in our body look alike in terms of shape, size and structure? Explain with the help 3 |
of examples. What similarities do they have?

i | Name the constituents of phloem? Which of these are non living cells? What role does 3
phloem play in plants ?

12 A book slides down a table top and comes to rest position after a certaindistance.
Name the force acting on the book. What types of forces are acting on the book?
(Balanced/ unbalanced). Which force brought the book to rest?

w

13 Show that the acceleration due to gravity at the surface of the moon is about 1/6 of that at 3
the surface of the earth.

(M55.98310* kg, Mm57.363107 kg,)
(Re36.37310° m, Rm51.74310° m)

14 A cheetah accelerates from rest at the rate of 4 m/s2. 3
(a) What will be the velocity attained by itin 10s ?
(b) How far will it travel in this duration ?

15 A car falls off a ledge and drops to the ground in 0.5 s (Take g510 m/ s2) 3
(1) Find the speed on striking the ground.
(i) Find the average speed of car in 0.5 second.
(iii) ~ How high is the ledge from the ground ?

16 State reason for the following : _ 3
(i) While catching a fast moving cricket ball a fielder in the ground gradually pulls his
hands backwards with the moving ball.
(i) If a man jumps out from a boat, the boat moves backwards.
(iiiy ~ When a fireman directs a powerful stream of water on a fire from a hose-pipe, the hose
pipe tends to go backwards.

17 Suresh read a press report that Indian population is estimated to be around 1.343 billion by
the year 2020. To meet the increased demand efforts are required to increase food production
but overexploitation of resources would degrade the environment. So we need to manage
resources to satisfy our needs while maintaining the environment and conserving natural
resources. Suresh decided to make his friends aware of these facts by holding group
discussions with them. :

w

(1) What is meant by sustainable agriculture ? |

(i)  “Organic Farming is a practice of raising unpolluted crops and maintaining soil
fertility.” Justify the statement.

(iiij ~ Mention two values which are worth admiration in Suresh.

18 Mention the parameters which are considered to be desirable for growing fodder crops and 3
cereal crops. '

19 Define the term - solution. Identify the solute and solvent in the following solutions - 5
(1) Tincture of iodine
(i1) Polluted air
(iii)  sodawater
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 (iv)  Dilute Hydrochloric acid

()]
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Name and explain all the processes involved when heat is supplied to a solid and vice-versa.

(a) Define tissue. What is the importance of tissues in multicelluler organisims ?
(b) Are plants and animals made of same types of tissues ? If no, then. Write three points
of difference.

(a) For a moving object, derive graphically relation between final velocity v, initial
velocity u, acceleration a and time t.
(b) Draw the distance-time graph for the following situations :
(1) When a body is stationary
(ii) When a body is moving with a uniform speed.
(ii)  When a body is moving with non-uniform speed.

A bike moves with a constant velocity of 5 m/s for 10 s and then its velocity increases to 10
m/s in the next 5s. Thereafter its velocity decreases at a uniform rate until it comes to rest
after 10 s. Express this entire run of the bike on the velocity-time graph. From the graph :
(a) Identify the time interval when the bike was accelerating.

(b) Find the distance travelled in the last 10 s.

(a)  Name two products obtained in bee keeping.
(b) What are the desirable traits of bee varieties suitable for honey production?

(c) Give the scientific name of the Italian bee commonly used for commercial honey
production
(d) What is pasturage and how is it related to honey production?
SECTION - B
Metanil yellow is an adulterant mainly found in :
(a) mustard seeds (b) turmeric powder
(c) wheat, maize, rice (d) Pulses

A student added two drops of iodine solution to a given rice extract in test tube A. Another
student added a little rice extract to iodine solution in test tube B. they would then observe.
(a) a change in colour to blue black in test tube A but not in test tube B

(b) a change in colour to blue black in test tube B but not in test tube A.

() a change in colour to blue black in both test tubes A and B.

(d) no change in colour in any of the test tubes.

Following safety symbol appears on the bottle of Carbon disulphide :

This means that carbon disulphide is :
(a) explosive (b) oxidising
() flammable (d) corrosive






